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FREEfER (EeE) 76 74
ek (v 4-) 12
FEE s (Vv @) 62 57
PEEMiEE (7 4% @) 809 523
PEfEfia (6 4-) 229
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A RIS BT B2 FEE S 3 EE
4 A 1, 752 0 0
5A4 3,291 0 0
6 A 2,983 43 0
7 H 1,535 295 0
8 H 1, 540 995 0
9 A 1, 852 1, 162 0
10 H 1,482 1,262 832
11H 1,779 1,322 1, 545
124 1,212 713 1,016
1H 869 440 524
2 A 152 34 848
3A 0 2 1, 239
At 18, 447 6, 268 6, 004




<BEER—2>

BIPRBEEEBEITNOGENE (*)vvay7? ) ORGER B 5 & Ok 51

H H i ¥ ()
AL 50, 000 ~100, 000
VAR T — A 20, 000 ~100, 000
ER A 100 ~ 40, 000
72— (m%4Y) 90 ~ 1,100
7= 6,000 ~ 60, 000
Yrxy b RTAL A=Y 17,800 ~126, 000
EVE 500 ~ 90, 000
7YY — 200 ~ 9,450
IRFat 8,040 ~ 25,000
TA 7%y b 5,480 ~ 60, 000
HFE 945 ~ 10, 000
ra—=7 2,270 ~ 10,000
S 900 ~ 20, 000
A HT R 5,460 ~ 25,000
= 1,500 ~ 6,000
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